w0 V1354

| Reg. No.

V Semester B.Com. Degree Exammatlon, March 2021
‘ | COMMERCE |
Cost_mg Method
(CBCS) (F)
Paper : 5.5

Time : 3 Houfs - | : MaXimum Marks ,:'70
Instructtons fo Candtdates

Answers should be written completely elther in Kannada or in Enghsh

/
‘ SECTION-A
JIEATACT S

T Answer any Five of the following sub/ questlons Each sub-questlon catries Two marks (5><2'-1 0)
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‘What is Batch Costing?

rbo."’wa B DoTIeH?

| lee any four examples of Industries where J ob costmg is applicable. .

ée)N 3%, ébmaiasm wmas o:’mag)mdcm T, 'u’émbéﬁeé Nantetots] ae@
What do you mean by Economlc Batch Quantity (EBQ)‘7

What do you mean by Byeprodqct?

SUT-FJWNRD  DOT3E0?

State any two features of Procéss Costing.
THOD BYPR ATB 1drowgenTS), SR

© What is work certified? |
WSPe8B0AT OB DOTW3eRD?

Give the meaning of National Profit.

[PTO.
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SECTION B
Answer any Three questlons Each sub- questlon carries six marks . (3%6=18) B
- OIRFTRTET TR TINER W00, BECIROTER, BTO VOTNWD. R

2. Brielly,Explainthe different methods of coStiug. .
‘ &5\ 2’05@?‘053 TIT DA é:)z:sasmim ROZBEION auea

3. Calculate the cost and sellmg price of the J ob after addmg 25% Proﬁt on. total cost
~ Materials Rs.12 OOO :
. Wages: '
~ Department X - 60 hours at Rs.50 per hour. -
o ‘Department Y - 40 hours at Rs.30 per hour.
Department Z.- 20 hour at Rs.25 per hour
" Variable overhead Rs.20 per hour.
- Fixed overhead Rs.25,000 for 1,000 hours : ‘ v Ve
3303 maoéobood 283, ﬁzscs aﬁaecﬁ zSe 25% doém fooﬁ@a’s a‘ﬂo@ dzs 53330 asaoe&s o
3363033333 eocéaéo@o&)o o FR S
3, asnomfo dJa -12, OOO
v_arae“)' _ ’
o ol X wén’o&%ﬁ draso ooé 2.8 60 nownsb.
BRr=(So] Y—wéﬁoﬁﬁ 3.30 303 mso 40 Rotirisb.
- qenal Z-B3nouR 8we.25 Bod auo 20 rtoe:%n’@éo., |
238 aﬁbe@wmfo - B3 noedt dJaZO ' -
» n)d dae@?sﬁeéo lOOO ﬁoﬁﬁ@?ﬁ dJa25 000.

4. In the processmg a raw materials one main product X and a by-productY are produced The
" jointexpenses of manufacturmg are S
- Materials Rs. 24,000
Labour Rs.12,000

- Overheads Rs.5,600

, Total Rs..41 600
. Subsequent expenses are as follows o ;

' Particulars ' XRs. YRs.

- Materials 12,000 - 6,000
Labour | 5,600 4,000

" Overheads ‘ 2,400 2,000

SN T 20,000 12,000
Sales Value =~ . 64,000 32,000

- ‘xEstimat‘ed_Proﬁt on Sales - 25% - 20% -
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Show the apportlonment of Joint cost of manufacture using reverse cost method

2,00 emeacﬂata BOBONE RO *aasmodaab TBFOWRTONR 20T WP emes X

T aﬁae’o T emézs Yq)eméw mﬁoaéd <ac$o asow 33239‘5 NWT
R4 k-t . i

AN JWO . 24,000

B 8% 12,000
1asaeesas . 8w, 5,600
mso G 41,600
:f:a‘ooasaoda smocs 5325 - o
AWT , 8 X Y
- mEdN JWO sl 8%.12,000 6,000
CBR® . 80.5,600- 14,000
' ‘ﬁsegzgdm S . T®.2,400 2,000.
e 20,000 12,000
’-.aﬁ:ooatscj 236" . dw. 64,000 & . 32,000
L S0oeus 236053 90T OO - 25% 20%

 3cha 308 Dtk Dop, 9EEE S0 TTAY woK DS Smneses
mc&w agocsa a‘jwodaab 303308

i Annual demand for the component Rs. 2, 400 set up cost per batch Rs 100: Carrymg cost
. per umt of production per annum 6% manufacturing cost per unit Rs. 200 e
. .-a) Calculate EBQ for a company using batch costing. -~ : ' i
e b) ~ Also find out the number of batches to be produced to meet the annual requlrements

Re Bers w@%dﬁ@?ﬁ 30,2,400, BEROIT TS 5323’ 3e.100, ToKuFE OB

ffj;,oﬁa i3, TY0ROTE, TAFT B¢ 6%, CWEIHT B2 TIOAROTE T, 200,
8 Nasa%s-s GoERGT SRRy, ARRE Ht NRFORTEID | *80m%ROND.
}'b) FCS@ emea&mm 283 emeodm &osmfa’o 50@’0&6@0&0@ S ,

o From the fOHOWlng information calculate.
~a) - Total Kilometers.’ :

b) Total Passenger Kilometer. _
Days operated in amonth - 30 days Trips made by each bus covermg of dlstance of 150 kms v

. " one side.:
~© “No.of buses 4.
S ~‘Capa<:1ty of each bus 60 passengers
-~ Average pasangers fravelling 75% capacity.

9303 SRkENos:

Ca) oy .averiso.

b).. msa BRocdE 8.0e.N%, %@ﬁsﬂa’» socéaéo@o:bo
aoodo éoﬁ@&@ eaodas'awFaofocs Qsmfo 30 OIAD.

me OIN0T 150, .0enY BROTTY, B WA, FWRIS.

mss aonorteéo -4

38 wad mRTE 60 TED. -
- wodsaséﬁo Ncan)a ojrosa 3¢ 75%0 *'oafocSF

‘[‘Rrr.o.t
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Answer any Three questrons Each question carrles 14 marks .

 SECTION 'C' -
R -

O3PEYTIRTBBR STy BFNRR U\)@S@N wéo&oocﬂa wéoim saaswa @oaﬁ@éa’e

b)

- BROQTI. N\
7. a) Ascertaln the selhng price ofaJ ob from the followmg partleulars
| Materials used - Rs. -80,000 ' :
Productive wages. Rs. -50,000
Direct expenses Rs. -10,000

- Provide 60% of productive wages for works cost and 12. 5% of works cost for ofﬁce

cost. Profit is to be realised at 15% on the selling price.
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(3><14—42) :

How much of proﬁt is to be, transferred to profit and loss account in the following '
case? - '
Contract value ‘ Rs.20, OO 000
~ Cost of the contract fill date ~ Rs.9,00, 000 :
-Cash received ~ Rs.9,00,000 (90% is Work certlﬁed)
, ‘Uncertified work Rs.1,00,000
a) 39808 R0ENLOT 2050 23 30T Rokd zﬁeiomo eocsaao@omo
L2 o] “am‘ﬁ%fo 82.80,000
- emaadm ﬁm@ dfa 50,000
' 5@6 ab"?srte;o . o  8%.10,000. 7
eme'adasa &a@oja@ 60% T, emeecsm aﬁae@z&mﬁ aﬁaeb emeedaa dzid@ '
O 12.5% B3 mw\ 2TNR, Booes aseosoo 15% S emas wcsosoeacsa |
b) 3I$NI foocsa:is'deﬁ e:aas B s% asa:%ﬁ DT, e:‘aaﬁaﬁ?n SrRERsS mcsaoeo’adom_

BOWIERBND.

- TH3ROD. 53396) d.o 20,00,000
93233?‘?\635 méﬁ 6.325 no@aﬁddﬁ $.9,00,000

TES Beo 89.9,00,000 (TRe30nT $RTY 90%)
BRe308T 0% 82.1,00,000. :

8. Harihanth construction Ltd has undertaken constructlon ofa bridge, The contract price
' _being Rs 1,30,00,000. The details relatlng to contract isas follows -
| . Rs.
Materlals Purchased N 33,00,000
 Materials rent from stores 8,00,000
Labour cost’ s - 40,00,000
' Direct Expenses -~ "2,50,000
Hire and use of plant 1,20,000

General o/hallowed

~3,50,000
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Materrals on hand at the end of the period . 63,000
: Wages accrued at the end of the perlod 75,000
 Direct expenses accrued at the end of perlod 15,000
“Cost of work certified by archifect : 1, 10“,00,000
Cost of work uncertified M '2,00,000
- Cashreceived from contractee - 188,00,000
‘youare required to show. . - ' B

a). Contractaccount

'b)  Countractees account

BOLOT SUFE, “OVHE"R 20T & Neaaasosma REFRDY TO8R BEOTY, maﬁosa -

'&3@3 dJa13O 00 OOO QﬁﬁCSD maﬁﬁ ROWODAT B8 3YBOB. QRINO.

| gR.
TN, amoedo-@cso o - ©33,00,000
Hherowon S9AT TN - 8,00,000
T 33 . N  40,00,000
Bes DepERD | S 2,50,000 :
MBS WIAB N 2 LR I 1,20,000 -
- FORRT daeeﬁ?sr{eé OIRRE : o - 3,50,000 :

' ea@os: a@aﬁosao 39T PN, o 63,000
©TQ0H RRScHY sscao:mzs 309 o 75,000
©BOH 2RSDES aseosrozs 363 SPnsd 15,000
SEIRR el mtéeeofod 3oxT ajzs 1,10,00,000

;'-wmsésem 3OoRG B[F S 2,00,000

SR DeBTIDOT B33 @0 .. 88,00,000
=2 %ema@ne;so Qesy) BoIOR: '

a) ™R éUaé

b) &R ReaTRT s,

Product "X_’ is obtalned after it passes through 3 vdist'inct _processes. The following |
information is obtained from the accounts for the month ending 31-12-2020.- .~

Particulars ~Total = Process Process 11 Process II1
Direct materials = 15,084 5,200 3,960 - 5,924
Direct wages -18,000 -4 000 -6, OOO S 8 OOO

" Production o/h -~ 18,000 ' - . - -
* 2,000 units at Rs.6 per unit were introduced to process L productlon overhead is recovered

on 100% of direct wages. The following addtional information is obtained.

process Ouput during ‘Normal loss Scrap value

o ~ the(unit) (Input) -~ UnitsRs.

| I 21,900 0 o 5% 2
o 1,680 , 10% 4

m 1,500 0 15% S5

Prepare process Account and Abnormal Gain or Loss Accounts.
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REBTONG. IBO wﬁo@ et 203 ToIng wﬁomem' L3 uo@ds:scs
IR . ey | @k 1 |mgod Ijmged I |
ST B2 FND 15,084 | 5200 | 3,960| 5924 |
63 300 18,000 | 4,000 6,000 s,ooo
em:«a‘adm aﬁaeeﬁzéﬁ%i) 18000 = R RS B s

2,000 wmsmssa cmé 303 3 59 Toeg, Tgod | ) :oecseramﬁ emaacsm aﬁae@zﬁaﬁ& '

B8 3RO0H 5e 100% So3 sozsexmd B ée;socg éz&ad@ ks 2N mms

T SR ©03T «03F, | *355335 m& - JIF B3Y

" (FuBnYQ) (faa@ww) B o exstoraCa
|1 1,900 '5% 2
o 1680 . 0% | 4

m 1500 5% 5

'.aeosa 503 sminem, s emms m ma emmas s gsa:sﬁem |
30370,

From the followmg partlculars relatmg to4 _]ObS of a company Calculate selhng prlce of |
each job. - : o : : ’

Particulars | Job N._o. 1 ,Job No.2 | Job No. 3 | Job Nd.4 |
|Materials 3200 | 4,000 4800 ;   ‘ 5,600

Wages - -_'1,'600 2,000 2,400 2,800
|Direct expenses 320 | 400 480 1560

Works overhead is 50% of price cost and ofﬁce overhead is 20% on works cost. Proﬁt
mark up is 25% on Selling price. -

| @ 39808 LT xo30h 4 B8 SoRnY wéoiraocsd asswaés aﬁeﬁo:om 3osm~ :

BT - pde) éem ] 2B 3®~' 2B 30,@, 23@ ST
L S0l 802 | 303 o4 |
| omnned 13,200 4000 | 4800 | 5,6_00

309 | 1600 2,000 | 2,400 2,800

560 DdE 3200 400 | 480 - 560

TR et TENT IER ed Be 505 m, 55333 36360 dse@a&’ﬁ% :

RaRFS SuE Se 206 OF, TR GRS TEme B¢ 25% o, RO ?36053_ -

e ‘adasd
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11 Followmg expenses were mcurred by a company on two Lorries for 25 days
' Partlcular SR A o sk LorryA LorryB
R 'DriversWagesi R :.‘;8;400_ o | _8,500
' |Cleaner’sWages.. . = 5,600 6,200
Diesel S Y 30,000 45,000
Jloit oo T 3,500 © 5,000 |
o Deprecratron | 14,400 12,200
| Repairs 5,600 - 5,600 .
- | Supervision © 3,200 ©. 3,200
| Garage overheads R 5,600 4,200
~ |Road Tax - ‘ 13,600 3,600
| Other overhead expenses 2,800 3,200
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Lorry ‘A’ carried 75 tones ofRaw Mater1a1 covered a drstance 0f2,500k.min 25 days and

Lorry ‘B’ earrled 100 tons of Raw Materrals covered a d1stance of 4,000k.m'in 25 days

Frnd out the cost per km and cost per ton kllometers by preparmg an operatlng cost sheet ,

of two. Lorrres

0% 0TI aacga @oom?ﬁ 25 oemeﬁ N 3:)2539' g %@ésocéoéci

TR DBond o0 A TR, - o0 B o
o - [w00Es 309 | 8,400 ~8.500 |
| 3esTt 89 5,600 . 6,200 |
lage 30,000 145,000,
o [eomer 3,500 5,000

| "=Be 14,400 12,200
|3y | 5,600 - 5,600
dae@zsedsa 3,200 3,200
daeeﬁzﬁﬁ@;o (mme) 5,600 4,200
o’ on 3,600 3,600
| «asd a.%aeeszsrre; aazsme;o 2,800 3,200

mo A ofm 25 oa*mfe 75 BI° ab‘ao cﬁrac«eb 2,500 $.60¢. BT 5&0,«‘3

QTOO B o3 25 @ﬁﬁ%ﬁ@ 100 &3° . mdﬁr&:& 4,000 3.e0¢ 6&)3~C3

STB CoONY Eeoisas‘zs*oe@ D wao:m 20T 8.50¢ DWF ) 2,00 ssaf@'f
8&)3@ dzswab 6063&;630306 :







